

Definition

Let $f, g: A_\bullet \rightarrow B_\bullet$ be chain maps.

A **CHAIN HOMOTOPY** from f to g is a sequence of homomorphisms h_k

$$h_p: A_p \rightarrow B_{p+1}, \quad p \in \mathbb{Z}$$

for which

$$\partial_{p+1} \circ h_p + h_{p-1} \circ \partial_p = g_p - f_p$$

$$\begin{array}{ccccccc} \dots & \rightarrow & A_{p+1} & \rightarrow & A_p & \rightarrow & A_{p-1} & \rightarrow & \dots \\ & & \downarrow g_{p+1} & \swarrow h_p & \downarrow g_p & \swarrow h_{p-1} & \downarrow g_{p-1} & & \\ \dots & \rightarrow & B_{p+1} & \rightarrow & B_p & \rightarrow & B_{p-1} & \rightarrow & \dots \end{array}$$

Example

Let $f, g: X \rightarrow Y$ be continuous maps

$$P: C_k(X) \rightarrow C_{k+1}(Y) \quad (\text{prism operator})$$

P is a chain homotopy from $f_\#$ to $g_\#$.

A chain map $f: A_\bullet \rightarrow B_\bullet$ is a **CHAIN EQUIVALENCE** if there exists a chain map $g: B_\bullet \rightarrow A_\bullet$ and chain homotopies from $f \circ g$ to id and from $g \circ f$ to id .

Two chain complexes are chain equivalent if there exists a chain equivalence between them.

Proposition

If $f, g: A_\bullet \rightarrow B_\bullet$ are chain homotopic, then $f_* = g_*$.

Proof

Let $f \stackrel{h}{\sim} g$.

Let a be a cycle, i.e. $\partial a = 0$.
Then

$$g(a) - f(a) = \lambda (h(a)) + h'(\partial a)$$
$$= \lambda (h(a))$$

↑ this
is a boundary

$$\Rightarrow [g(a)] = [f(a)] \Rightarrow g_* = f_*$$